12 GA. (MIN.) GALV. COMMERCIAL TOP
ROLLER BRACKET ATTACHED W/(4)
1/4" x 1" HEX HEAD SCREWS

2"X 20 GA STRUT AT THE TOP OF TOP
SECTION ATTACHED W/ (2) 1/4" X 1"
HEX HEAD SCREWS AT EACH END
AND CENTER STILES

14GA. (MIN.) CENTER

12 GA. (MIN.) GALV.
COMMERCIAL TOP ROLLER
BRACKET ATTACHED WITH
(4) 1/4" x 1" HEX HEAD UNIV,
SCREWS

HINGE A"l"TAE?HED TYPICAL TOP ADJUSTABLE SLIDE BRACKET
W/ (5)1/4"x 1 SECTION IS ASSEMBLED WITH (2) 5/16" x
HEX HEAD SCREWS 3/4" CARRIAGE BOLTS & NUT
gslgghﬁlbi{%%s MINY 20 GA STRUT ATTACHED MODEL 2700
ADJUSTABLE SLIDE BRACKET W/ 7/16" RETAINERS FOR W/ (2) 1/4" X 1" HEX HEAD 27 GA. (.015" MIN) ,
ATTACHED W/ (2) 5/16" X 3/4" CARRIAGE NON-THREADED SHAFTS SCREWS AT EACH END OR MODEL 2720 2" 20 GA STRUT ON THE TOP OF
AND CENTER STILES 20 GA (.034 MIN) EACH EVEN SECTION ATTACHED

BOLTS AND NUT
PREPAINTED STEEL

W/ (2) 1/4" X 1" HEX HEAD SCREWS
AT EACH END STILE AND CENTER
STILE LOCATION

(SEE TABLE 3)

TYPICAL TOP FIXTURES 1
N.T.S.

TYPICAL CENTER HINGE TYPICAL
TS 2 INTERMEDIATE
S SECTION INTERIOR SKIN 27 GA
-7
1 - —-—A ) "
: \ 3" 20 GA STRUT ON THE TOP OF
1= : 14GA. (MIN.) CENTER HINGE . EACH ODD SECTION ATTACHED W/
= : COMMERCIAL ATTACHED W/ (5) 1/4" x 1" ~ -~ 2) 1/4" X 1" HEX HEAD SCREWS AT
' : TOP FIXTURES 2"-10 BALL STEEL 4.5" (MIN) () HEX HEAD SCR(E%VS i TONGUE & GROOVE gi)\CH END AND CENTER STILES
: : STEM ROLLERS W/ RETAINERS SECTION JOINT (6bE TABLE3)
l USED FOR NON THREADED o@o :
: SHAFTS TYPICAL BOTTOM «_ {53
I : 19ga GALVANIZED 20GA. STRUT STACKED ON SECTION &
; END STILES HINGES ATTACHED W/2) 1/4" X 1" BOTTOM BRACKET
L @UaX1" 11 GA. (MIN.) ATTACHED
‘ 3 HEX HEAD SCREWS AT , ; e '15 o 2
8 EACH END AND CENTER STILES ~ POLYURETHANE HE(X)HE X SCREWS
DOOR HEIGHT COMMERCIAL INSULATION
; H / SLIDE LOCKS ° CORE
! 2 PLACES ’
s T L ¢ ) TYPICAL END HINGE 3
: T : N.T.S.
1 SECTION A—A (SIDE VIEW)
. . = NTS.
TYPICAL 24" |.
SECTION 4 BOTTOM BRACKET

11 GA. (MIN.) ATTACHED
W/(7) 1/4" X 1"

°§ HEX HEAD SCREWS REV | DESCRPTION OF REUSIONS DATE  |BY
TYPICAL o ¢
PANEL - 10 o
! I —s 2"-10 BALL STEEL 7" (MIN. =8 N
DOOR WIDTH ; STEM ROLLERS W/ RETAINERS o | 88 _-“E“; ;}‘\\\ ¥
DOOR INTERIOR ELEVATION 'o S USED FOR NON THREADED SHAFTS 1,2; ’,;«>ﬂ5*4d} h z
o -~ o s =3
DESIGN LoADS| EE 2y T gl
t238 PSE | wx SRS . el
TYPICAL BOTTOM BRACKET (" 4 “273 PSE 1 9o Py TERDINEY .o 2
N.T.S. gg ,,... :..-.- ----- vesesnesw .@2{/? ;
EsTloas | £2 g, 85829 rEa 2
+35.7 PSF | &3 W OAC--.{./CENsE?.-@%; &
2X6 No. 2 OR BETTER SPF WOOD JAMB ~4.0 PSE | 2 \ SSioNAL BN 3
, 120" , 5/16"x 1 5/8" LAG SCREW £2 M >
| TAMB SEAL OPENING WIDTH | / (1) PER JAMB BRACKET £E TX 3
\ / OPTIONAL 3 THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE 2
\ ny Ty WITH THE PROCEDURES DESCRIBED IN DASMA 108. THE
77 74 . PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED 74@]/1’
' 71 m 71 o e K SPLICE USING ASCE 7-98/02/05 WITH THE FOLLOWING PARAMETERS
_/ OR (2) RIVETS (5 FEET OF DOOR WIDTH IN END ZONE, ROOF SLOPE 10° OR ENTREMATIC
. c INTERMEDIATE ROLLER LESS, AND 1=1.0):
063" MIN TRACK HINGES 14GA HINGE 14GA 2".10 BALL STEEL 4.5" MIN. MODEL 2700 AMARR 2742
ffn%ﬁ%%ﬁiommsus}mm WIND SPEED (MPH) | 130 | 118 | 112 |107| 103 MODEL 2720 AMARR 2042
TOP AND BOTTOM FIXTURES EXPOSURE LEVEL B C C D D RAW BY  RIR| DATE 07/23/18 DRAWING NUMBER
2" BRACKET MOUNT TO WOOD JAMB DETAIL ~ T0° AND BOTTOM FIXTURES) A-S S D fawee wlon o ] omeowes
NON THREADED SHAFTS MEAN ROOF HEIGHT | 30 15 25 | 15| 25 B| cEcxep BY RR| DA 07/23/18
ENTREMATIC SHEET 1 OF 3
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105




TRACK CONNECTION DIRECTLY TO STRUCTURE OPTIONS

T PLF-TAPPING SCREWS 12 GA. OR 3/16" STEFL ; " 2000 PSI MIN. SIMPSON STRONG-TIE 3/8"0
TEKS (SEE BELOW) 1/8"NOM X 1" LONG 1/4" LONG TACK WELD i CONCRETE SLEEVE-ALL EXPANSION
(TEKS) FILLET WELD (E60xx SAME SPACING AS 2000 PSI MIN. SIMPSON STRONG-TIE 3/8"0 \ ANCHOR WITH 7/8"% WASHER.
ELECTRODES MIN.) FILLET WELD CONCRETE WEDGE-ALL EXPANSION 1-3/4"MIN. EMBEDMENT
. \ ANCHOR WITH 7/8"@ WASHER.
1-3/4"MIN. EMBEDMENT 4

ZZX zZ Z

J 2-5/8" THICK

B WALL MIN

= - 2-5/8" THICK !
WALL MIN. (1.5 x EMBEDMENT)

(1.5 x EMBEDMENT)

CLIP STYLE REVERSE ANGLE MOUNT SHOWN

BRACKET, CONTINUOUS AND TAPERED ANGLE 3" MIN. EDGE
MOUNT AVAILABLE REVERSE ANGLE MOUNT SHOWN 37 MIN. EDGE DISTANCE
BRACKET, CONTINUOUS AND TAPERED " DISTANCE
12 GA. STEEL FRAMING ANGLE MOUNT AVAILABLE CONTINUOUS ANGLE MOUNT SHOWN
- 232 LBS/SCREW ALLOWABLE LOAD - 6" FROM ENDS CLIP STYLE CONTINUOUS ANGLE MOUNT SHOWN BRACKET, CONTINUOUS AND TAPERED ANGLE
AND 18" O.C. STEEL FRAMING 12GA OR BETTER BRACKET, REVERSE AND TAPERED ANGLE MOUNT MOUNT AVAILABLE
REFER TO NOTES: 1,2 AND 5 1590 LBS./IN. ALLOWABLE LOAD - 6" AVAILABLE .
FROM ENDS AND 24" O.C. 2000 PST CONCRETE OR GREATER
3/16" STEEL FRAMING REFER TO NOTES: 1,2, 5, 6, 7, 8 AND 9 2000 PSI CONCRETE OR GREATER 336 LBS/EXPANSION ANCHOR ALLOWABLE LOAD - 6"
569 LBS/SCREW ALLOWABLE LOAD - 6" FROM ENDS 351 LBS EXPANSION ANCHOR ALLOWABLE LOAD - 6" FROM ENDS AND 24" O.C.
AND 24" 0.C. FROM ENDS AND 24" O.C. REFER TO NOTES: 1,2, 3,4 AND §
REFER TO NOTES: 1, 2 AND 5 REFER TO NOTES: 1,2, 3,4 AND 5 SPECIFICATION

. 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE
WOOD_JAMB ATTACHMENT TO STRUCTURE (OPTIONAL) VeAneal A8 R T S S 103 K mlisrEeee 1o e

PORTION OF THE LOAD TRANSFERRED FROM THE DOOR.

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE . 2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
5/16" X 3” LAG SCREWS STARTING 6" FROM ENDS NOTES: +144.8 LBS/FT & —166.1 LBS/FT
THEN 24" O.C. (1 1/2.: EMBEDMENT) 1. ANCHORS TO BE EVENLY SPACED BETWEEN THE HEADER AND 3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED
FLOOR. AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.
ﬁlél ?(\;//IKRggtT 3‘> 853 QTTA:*,P"S'¥ERTT|NLO 6% FROMP éN%%NC ETE 2 FIRST(BOTTOM) ANCHOR STARTING AT NOMORE THAN HALF OF 4. DOOR UP TO 24' TALL FOLLOW TABLE 3 STRUT SCHEDULE ON PAGE 3
y : 5. DOOR SECTIONS SHALL BE 27 GA. (.015) MIN. EXTERIOR SKIN
THEN 24" 0.C. (2 1/2" EMBEDMENT) 3“511?;1&“ ATSLEA‘;SCTAOS HIGH AS THE DOOR OPENING. ROLLED FORMED, W/ BAKED ON POLYESTER FINISH
HILTI SLEEVE ANCHOR 3/8" X 2—3/4" STARTING 6” FROM ENDS - MIN. EGDE DISTANCE OF 3" REQUIRED. 6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
THEN 24" 0.C. (1 1/4” EMBEDMENT) 4. USE WASHERS PROVIDED BY THE ANCHOR MANUFACTURER. BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
ITW/RAMSI-_—F REDHEAD (TRU"‘BOLT) 3/8“ x 4" START'NG 6" FROM ENDS 5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A |ND!CATED ON TH'S DRAW‘NG IN ADD'T’ON TO OTHER LOADlNGS.
” " REGISTERED PROFESSIONAL ENGINEER FOR WIND LOADS IN
THEN 24" O.C. (2 1/2” EMBEDMENT) ADDITION TO OTHER LOADS.
X 6 ICAL_JAMB_ATTACH H C— CK 6. MOST GARAGE DOOR TRACK IS GALVANIZED STEEL. USE ALL REV | DESCRIPTION OF REVISIONS DATE  |BY
SIMPSON 1/4” X 3" TITEN SCREWS STARTING 6” FROM ENDS, NECESSARY PRECAUTIONS WHEN WELDING GALVANIZED STEEL. I F A
USE PAIRS OF FASTENERS (3" APART) . 7. ALL WELDS SHOULD BE PERFORMED BY A CERTIFIED WELDER "
AT 24" 0.C. (1 1/2" EMBEDMENT) OR INSPECTED BY A CERTIFIED WELDING INSPECTOR TO —™ MAX. WIDTH 120 — _ 2
HILTI 1/4" X 2-3/4" KWIK—CON Il+ SCREWS STARTING 6" FROM ENDS, VERIFY THE INTEGRITY OF THE WELD. MAX SiZE | 28 Q,\\\\\ N
USE PAIRS OF FASTENERS (3" APART) AT 24" 0.C. (1 1/4" EMBEDMENT) 8. FILLET WELDS TO HAVE A STRAIGHT OR CONVEX FACE 122 x 24 |33 - E E Q
2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C—90 BLOCK (2000 PS| GROUT) SURFACE. pid :«\5 4’4 s
HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS 9. TACK WELD TOE OF ANGLE AT SAME SPACING TO PREVENT pesioN Loaps [ f [ TP T 1] T £ o e 3
THEN 24" 0.C. (1 1/4" EMBEDMENT) ROTATION OF TRACK ANGLE. +]gg~$ '[BBSS;;TT SEE NOTE 2 DESIGN LOADS| E& 2 % Lk )
(OR, USE FASTENERS FOR HOLLOW C—90 BLOCK) ) tg-g Egg sE [N SIS LK K
*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE. o £& 4 THOWAS DSHELMERDINE g
*PREPARATION OF WOOD JAMBS BY OTHERS T 55859 g’ﬂ L? 2
X TRACK CONNECTION TO WOOD JAMB OPTIONS TEST LOADS | §5 XN o &S 2
WOOD CONCRETE +35.7 PSF | »g 1, G [CENSEN 2
& STRUCTURE STRUCTURE FOR LAG SCREWS & BRACKET SPACING SEE PAGE 3 FOR TRACK CONFIGURATION DETAIL -41.0 PSF | 3% \ \QS‘S/ONA\_E“ N &
%J AR - g‘g \\\\\\\” -~ 5
8 - \ 1" 1 1 £2 !
3 = B 7 TX 2
W)V W) V) ’
1/2" MIN TYP. 2-3/4" MIN = Lo i "" aW
<
HOLLOW BLOCK — ——
STRUCTURE R rORE 0% ENTREMATIC
\ \ MODEL 2700 AMARR 2742
D i BRACKET MOUNT CONTINUOUS ANGLE MOUNT REVERSE ANGLE MOUNT MODEL 2720 AMARR 2042
- 5/16" x 1 5/8" LAG SCREW (1) PER 2x6 WOOD JAMB SYP OR SPF . SZE| DRAWBY RIR| DATE 07/23/18 DRAWNG NUMBER
. JAMB BRACKET (1-1/2" EMBEDMENT (NO.2) OR BETTER (TYP.) [BC-2712-130-15
M e - MINIMUM) (TYP.) B | cHeckeD BY RIR| DATE 07/23/18 -2112-130-15-
165 CARRIAGE CO&WI#?F%I%—SALEM,NC 27105 SHEET 2 OF 3




TABLE 3

DOOR Section # (From Bottom)

HEIGHT| 1 | 2 [ 3| 4| 5| 6 | 7| 8] 9]1011]12
] 3123 |2

g R EERVEE

14 GA. (MIN.) FLAG BRACKET ATTACHED TO y
WOOD JAMB % o BT T - T T
W/(3) 5/16 D1A. X 1-5/8" LAG BOLTS AND TO / = 11 I ERERER
TRACK W/(4) 1/4"-20 x 5/8" TRACK SPLICE / 7 |52 |32 ][5 ]2
TABLE 1 BOLTS AND NUTS %; 13 O R K
. % L R B A R B S
. Center Stile % L T I i U el B R
Section . X % T T B e B o i o
. Locations 7 — T T Tt o5 o7
Width Sesesssss 0 / 17 [ [2r ][22 [3[2r]3]2
Tot >nd : % | T B BT I B o T o e
(ﬂ) ' : / %; p T T I T T U B U M T T
(in) (in) 14 GA. SPLICE BRACKET ATTACHED TO % 2w (3|23 |2]3 |23 ]2 (3 (2
" - m WOOD JAMB W/ (1) 5/16 DIA. X 1-5/8" LAG % 21" |3 2r 23 f2r 3|23
6|0 36 - OLT AND TO TRACK W/ (4) 1/4"-20 x 5/8" % IR EAVIER RV R EE
61 2n 37" _ 5 TRACK SPLICE BOLTS AND NUTS % iy >3 1o [ 3 2323|2223 ]2
e é N T B B - B B R e B B
(1) 5/16" DIA. x 1-5/8" 7
6 e" 39" - LAG BOLT ATTACHED TO JAMB % :
5 - 20 / AT EA. JAMB BRACKET % iy
8 0 - ZNi
1" 12 GA. GALV. STEEL v
6‘ 1 0 4 1 " - JAMB BRACKETS PLICE TRACKS W/ (4)-20
ATTACHED W/(1) 1/4"-20 x 5/8" TRACK SPLICE BOLTS &
7 0" 42" - TRACK SPLICE BOLT & NUT NUTS
[ " " |
7 2 43 - § fi"féi‘.n;ff)“ VERTICAL TRACK
7’ 4" 44" - F-V TRACK ATTACHMENT CAN BE BRACKET =
. ™ m MOUNT, CONTINUOUS, REVERSE ANGLE E =
7 6 45 - E MOUNT OR TAPERED REVERSE ANGLE = E g
MOUNT. (SEE AVAILABLE TRACK = 2 [4
7' 8" 46" - D CONFIGURATIONS ON THIS PAGE) & E g g
o}
Tt A |- ¢ T Azt TACK acs e nacx s i : ﬁ
81 Oll 48" - B RIVETS OR (1) 1/4"-20 BOLT & NUT
' T T ALL TRACK BRACKETS OR TRACK CLIPS
9 2" 37“ 73" A M ARE TO FOLLOW SPACING AS INDICATED
9| 4l| 36" 76" ‘
_I]] L] !
9» 6" 37!1 77" w L
- m - = TRACK CONFIGURATION FOR UP TO 24’ TALL DOORS AVAILABLE TRACK CONFIGURATIONS
9 |8 38 78 SEE TABLE 2 RIS ’
9 10" 39" 79" REV | DESCRPTION OF REVISIONS DATE  [BY
10'| 0" | 40" 80"
102" | 41" | 81" TABLE 2 5
— b=
10'| 4" | 42" 82" DOOR SPLICE Max size | B8 SNy R
- » " HEIGHT| A| B | C] D|EJF |G| H] T JJ]JKJL|[M|NJO[PJQ[R[S[TJU]| 8§ 12'2 x 24’ §§ —‘Q;E OF Ig \\\ 8
10'] 6" | 43 83 7 3.5 [10° [34" 58" 76" et F Al 57NN g
10 8" | 44" | 84" § 3.5 [10" [3¢ 58" |62 88" e £, YU
=TT = R ol T e ol il 00 misgNngsAgs Bs  Zx; i
10° _[3.5'|10" [34" |58" [82" |94" |106" 112" 1373 per | 5B 4o foahE
11" 0" | 46" 86" 1 [3.56'|10" |34" |58" [82" |94" |106"|118" 124" ' £8 A , g
T o 0 . 12 |3.5" [10" [34" |58" [82" |94" |106"|118"[130" 136" g ¢ z
£
mi2 47 87 13" [3.5"[10" [34" [58" [82" [94" [106"[118"[130"[142" 148" TEST LOADS | 55 H
[ " " " 5% 5
11" 4" | 48 88 14_[3.5° [10°_[34" |58"_|82"_[94" 106" [118" [130" [142" |154" 160" +35.7 PSF 193 2
T 16 29 5" 15 [3.5°'|[10° |34 [58° |82" 94" [106" 118" [130" |142" |154" |166" 77 ~4.0PSE 12T 3
1 . . 16 |3.5" 10" [34" |58" [82" [94" |106"|118" |130" |142" 154" |166" 178" 184" st o
11" 8" | 50" | 90 17 |3.56' [10" [34" [68" |82" |94 106" 118" |130" |142" [154" 166" [178" [190" 196" F& 3
11T 1101 51" Y 18 |3.5° |10° 34" |58" |82" |94" |106"|118" |130" [142" [154" |166" 178" 190" |202" 208" o
=1 - - 19 |3.5" |10" |34 |58" |82" [94" [106"|118" |130" | 142" |154" |166" |178" |190" |202" [214" 220"
0" ] 48 96 20 |3.5° 10" [34" |58 [82" |94" | 106" 116" |130" |142" |154" 166" |178" |190" |202" |214" |226" 237
12 [ 2" | 49" 97" 21 [3.5" [10° |34" |56° |82° |94" |106" [118"|130" 142" 154" |166" |178" [190" [202" [214" [226" | 238" 244"
22 |3.5°|10° [34" |58" 82" 94" 106" |118" [130" |142" |154" |166" [178" [190" |202" |214" |226" | 238" |250" 256" "
*CONTACT ENGINEERING FOR SIZES 8'2-9'0 23 [3.5°|[10° |34" |58" |82° |94" |106" 118" [130" |142" |154" |166" [178" |190" |202" |214" |226" | 238" |250" |262" 268" ENTREMATIC
24 [3.5°[10° [34" |58" 82" |94" |106" |118" [130" |142" |154" |166" |178" |190" |202" |214" |226" |236" | 250" |262" |274" | 280"
. MODEL 2700 AMARR 2742
ALL TRACK ATTACHMENTS +/— 2" ALLOWED USING SYP OR SPF NO.2 OR BETTE Y
/ : 2 R ONL MODEL 2720 AMARR 2042
SZE| ORMNBY  RR| DATE 07/23/18 DRAWING NUMBER
B | coeckeBY RR| OATE 07/23/18 IBC-2712-130-15-1
165 CARRIAGE COU]{I'IT&EHI:‘ASQT’ISE-SALEM,N.C. 27105 SHEET 3 OF 3




